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(nGy/h)
3.0x10 x 10 x10 ~ % 10
3.0x10? x 10 x10 ~ % 10
3.0x10° x10 x10 ~ x10
(2)EBtTE
BEESAD | agsmse SE .
R (nGy/h) (nGy/h) R "%
(nGy/h)
3.0x10* x 10 x10 ~ % 10
3.0x10° x 10 x10 ~ % 10
3.0x 108 x10 x10 ~ x 10
3.0x10’ x10 x10 ~ x 10

XTZE[R(RF)RERICHITIERRERAEIRIV(ZLE)RERD = % LA
BREARBZFEONERVIFEBFOKRENZERRICEEZREITAEENGNIE (B - & )
23



sCixMERRIRERCER (4/9)

BmESF AR &f &
REELBE
REELBE
REIRE
1. F=2Y2J KRR (P-5)
(1)Nal(Th > oFL—3>
BEESAD | agsmse SE .
R (nGy/h) (nGy/h) R "%
(nGy/h)
3.0x10 x 10 x10 ~ % 10
3.0x10? x 10 x10 ~ % 10
3.0x10° x10 x10 ~ x10
(2)EBtTE
BEESAD | agsmse SE .
R (nGy/h) (nGy/h) R "%
(nGy/h)
3.0x10* x 10 x10 ~ % 10
3.0x10° x 10 x10 ~ % 10
3.0x 108 x10 x10 ~ x 10
3.0x10’ x10 x10 ~ x 10

XTZE[R(RF)RERICHITIERRERAEIRIV(ZLE)RERD = % LA
BREARBZFEONERVIFEBFOKRENZERRICEEZREITAEENGNIE (B - & )
24



sCixMERRIRERCER (5/9)

BmESF AR &f &
REELBE
REELBE
REIRE
1. B=2Y2 T KRR (P-6)
(1)Nal(Th > oFL—3>
BEESAD | agsmse SE .
R (nGy/h) (nGy/h) R "%
(nGy/h)
3.0x10 x 10 x10 ~ % 10
3.0x10? x 10 x10 ~ % 10
3.0x10° x10 x10 ~ x10
(2)EBtTE
BEESAD | agsmse SE .
R (nGy/h) (nGy/h) R "%
(nGy/h)
3.0x10* x 10 x10 ~ % 10
3.0x10° x 10 x10 ~ % 10
3.0x 108 x10 x10 ~ x 10
3.0x10’ x10 x10 ~ x 10

XTZE[R(RF)RERICHITIERRERAEIRIV(ZLE)RERD = % LA
BREARBZFEONERVIFEBFOKRENZERRICEEZREITAEENGNIE (B - & )
25



sCixMERRIRERCER (6/9)

BESF AH &% &
BREELEE
BREELEE
BEEISE
1. E=ZY T KRR (P-11)
(1)Nal(Th > oFL—3>
BEESAD | agsmse SE .
AR (nGy/h) (nGy/h) =R "%
(nGy/h)
3.0x10 x 10 x10 ~ % 10
3.0x10? x 10 x10 ~ % 10
3.0x10° x 10 x10 ~ % 10
(2)EBtTE
BEESAD | agsmse SE .
AR (nGy/h) (nGy/h) =R "%
(nGy/h)
3.0x10* x 10 x10 ~ % 10
3.0x10° x 10 x10 ~ % 10
3.0x 108 x10 x10 ~ x 10
3.0x10’ x10 x10 ~ x 10

XTZE[R(RF)RERICHITIERRERAEIRIV(ZLE)RERD = % LA
BREARBZFEONERVIFEBFOKRENZERRICEEZREITAEENGNIE (B - & )
26



soixmERRIRE R (1/9)

BESF AH &% &
BREELEE
BREELEE
BEEISE
1. E=HY T RAR(P-13)
(1)Nal(Th > oFL—3>
BEESAD | agsmse SE .
AR (nGy/h) (nGy/h) =R "%
(nGy/h)
3.0x10 x 10 x10 ~ % 10
3.0x10? x 10 x10 ~ % 10
3.0x10° x 10 x10 ~ % 10
(2)EBtTE
BEESAD | agsmse SE .
AR (nGy/h) (nGy/h) =R "%
(nGy/h)
3.0x10* x 10 x10 ~ % 10
3.0x10° x 10 x10 ~ % 10
3.0x 108 x10 x10 ~ x 10
3.0x10’ x10 x10 ~ x 10

XTZE[R(RF)RERICHITIERRERAEIRIV(ZLE)RERD = % LA
BREARBZFEONERVIFEBFOKRENZERRICEEZREITAEENGNIE (B - & )
27



sCixMERRIRERCER (8/9)

BESF AH &% &
BREELEE
BREELEE
BEEISE
1. E=5Y U KRR (P-15)
(1)Nal(Th > oFL—3>
BEESAD | agsmse SE .
AR (nGy/h) (nGy/h) =R "%
(nGy/h)
3.0x10 x 10 x10 ~ % 10
3.0x10? x 10 x10 ~ % 10
3.0x10° x 10 x10 ~ % 10
(2)EBtTE
BEESAD | agsmse SE .
AR (nGy/h) (nGy/h) =R "%
(nGy/h)
3.0x10* x 10 x10 ~ % 10
3.0x10° x 10 x10 ~ % 10
3.0x 108 x10 x10 ~ x 10
3.0x10’ x10 x10 ~ x 10

XTZE[R(RF)RERICHITIERRERAEIRIV(ZLE)RERD = % LA
BREARBZFEONERVIFEBFOKRENZERRICEEZREITAEENGNIE (B - & )
28



sCixmERRIRE R ER (9/9)

BESF AH &% &
BREELEE
BREELEE
BEEISE
1. E=5Y T RAN(P-16)
(1)Nal(Th > oFL—3>
BEESAD | agsmse SE .
AR (nGy/h) (nGy/h) =R "%
(nGy/h)
3.0x10 x 10 x10 ~ % 10
3.0x10? x 10 x10 ~ % 10
3.0x10° x 10 x10 ~ % 10
(2)EBtTE
BEESAD | agsmse SE .
AR (nGy/h) (nGy/h) =R "%
(nGy/h)
3.0x10* x 10 x10 ~ % 10
3.0x10° x 10 x10 ~ % 10
3.0x 108 x10 x10 ~ x 10
3.0x10’ x10 x10 ~ x 10

XTZE[R(RF)RERICHITIERRERAEIRIV(ZLE)RERD = % LA
BREARBZFEONERVIFEBFOKRENZERRICEEZREITAEENGNIE (B - & )
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